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401 Al HIZ S OHbI 300,000 300,000
01 A28l 300,000 300,000
OWtE xSt FE 204
300,000,000& *14] 300,000
HEAHS J|BAIEEHI 130,000 50,000 80,000
401 Al HIZL 201 130,000 50,000 80,000
01 Al&H| 130,000 50,000 80,000
OEEadY 28 S FUSHANLE S2SE
= 50,000,000& » 14 50,000
OFEZANEY 22 FHIAL
80,000,000 *14] 80,000
HY2AZHI(Z A2 ) 87,232 87,232 0
Jl=3H| 87,232 87,232 0
JI2ZH(S A28 ) 87,232 87,232 0
201 er2 3| 43,192 43,192 0
01 At2teltl 38,404 38,404 0
OJIZAeEZHI 100,000 * 17 1,700




SN SA2STHD
M HAHRAZH(ZAI2SHHL)
el JI=2 3 (Cte: M
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=ADI 2liE ¥ EU7el(Ze), 2%)
500,000& «1CH*12& 6,000
O=AEX 7Y 23,0002 202} A 122 5,520
OZAD| RTRI(4H % SEHTY)
500,0002 *1CH*43] 2,000
OzZgd |Xzel(EH+Y &)
237,000 +3CH+43] 2,844
OMSA 201 BA++E
160,000& * 122 1,920
OJlg Ex~E3H| 150,000« 128 1,800
Ood.2 I gxz 25,0002~ 12& 300
O=gH| 8,000 x17&*10&* 122 16,320
02 S3=4gHl 4,788 4,788 0
Os&s2= € MA 4,788
-LERS 4,164
aptes 4002 +5002] x 122 2,400
- S)|ed 2,100 x502] x 122 1,260
- S|eEtts= 2,1008 %203 12 504
-l ol 30,0003 x 122 360
-RUgsS 0182 22,0003+ 122 264
202 04| 40,800 40,800
01 SLHoIH 40,800 40,800
OZAI22Hlnt 2l PR 2L
20,0002 17 *102] « 12 40,800
203 HR=AH] 3,240 3,240
MU A2 LRSI 3,240 3,240
OZAlZaH Bt 300, 0002 * 122 *90f% 3,240




